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Add and subtract multi-digit whole numbers up to
- @and including 100,000 using the standard algorithm -

o with place value understanding.
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l® | | .
rY OBJECTIVE:

A 2==Today, we will use number sense and
. “90@ regrouping to subtract across zeros.




I can use the standard algorithm to
subtract from numbers with zeros.




‘ Take notes in your blue notebook when you see the notebook icon.

SUBTRACTING ACROSS ZEROS:

Start with the ones place. Regroup if the minuend (top number), is less
than the subtrahend (bottom number)-- Look to your neighbor to the left
— Nothing there to regroup? Go to the first neighbor that has something
to regroup! Repeat until all neighbors have more than O.

Subtract the ones place.
Subtract the tens place.
Subtract the hundreds place.
Subtract the thousands place.

. the digits by places and label them.
.
‘ Keep going until you have subtracted all places in the problem.
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‘ Take notes in your blue notebook when you see the notebook icon.

Inverse operations are opposite operations. The
inverse of adding is subtracting.

We will continue to use inverse operations to check
our work! In the problems that follow, we will

subtract and then use the inverse operation (add) to
make sure our answer is accurate.




Take notes in your blue notebook when you see the notebook icon.
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«)) London, England, is 15,710 kilometers from the South
Pole. Tokyo, Japan, is 13,953 kilometers from the
South Pole. How much farther is London than Tokyo
from the South Pole? Solve this problem any way you
choose,




——Subtract the

- ~— Ole8 first. Since

T L 8 cannot be
Ih l; 11(-) 9 ___subtracted from

-B, use regrouping_ &

2 g% ~——where necessary.
~ To subtract the

2 56 8 e

~tens.

< Reér‘oup: the number 2,905 by regrouping
@ ° hundreds + O tens = 8 hundreds + 10 tens.




- ThHTO
i To subtract the y
L —ohes,we regrouped._

— 8 30 15 hundreds to tens and

now tens to ones.”
2 g Nowyoucan
complete the

2 56 8 — sub’rr'ac'rlon pr'oblem

< Regroup: 10 tens + 5 ones = 9 tens and 15 ones.
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2,99‘5’
2, 2568 —
—337 —— §

@ 9 hundreds - 6 hundreds = 3 hundreds
«©







@ subtract, then use the inverse operation to check your work.
c,l;s'rima’re to check if your answers are reasonable.

HTO
717 1. Subtract the

@
@ 8/7' thousands
| /‘l’\ , 3 place.
@ Regroup if
P - 2 3 5 9 heeded.
028

' thousands - = thousands = * thousands

No regrouping needed because the minuend is greater than the
subtrahend.
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| | e = ~ Subtract ’rhe_- -
b= — Tth Th HTO first. Since cannot

subtracted 7 from
| -

10 3 0, use regrouping

}g ﬂD O —where necessary.

; To subtract the-

7 33 7 ones, regroup
~ thousands to

hundreds. B

. 1 — - -

’ . —

C Regfoup: the number 76,000 by regrouping f
thousands + 10 hundreds = = thousands + 10 -
hundreds




T'l'Fl Th H T O —Since cannot be

~subtracted from ,
_use regrouping
__where necessary.
~To subtract the
ones, regroup- |
N hundr'eds to——
tens. ;

(- Regr‘oup: 10 hundreds + O tens = 9 hundreds + 10
@ fens.




T'I'Fl Th H T O ——Since cann;‘r be '
* 9 9 ~subtracted from -

use regrouping
5 1ﬁ lpJO ___where necessary.
~To subtract the &

_75 g ﬂ ﬂ - ?Lfi T:;eg;g:p —
- 5 7 337 _

(- Regroup: 10 tens + O ones = 9 tens + 10 ones
-
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{ Regr'oup: ten thousands + 5 thousands = = ten thousands + 15 )
thousands

15 thousands -7 thousands = 8 thousands
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C fen’rhousands -~ ten thousands = = ten
@ thousand
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INDEPENDENT PRACTICE:

—p 63 Problems 18
___p 64 Problems 27, 28

HOM]

<WORK:

-Monday:

p 63 9-16
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Another strategy, when subTrac ing from numbers like 2,000 is to take
one away from 2,000 to make it 1,999. Subtract 1,999 - 1,876. Now you 3
don't have to borrowl!!

Because we took one away (subtracted) from 2,000 we have to give it
s back (add it) at the end to get our final answer.

1,999 We took one away from 2,000, so
-1 876 we have to give it back (add |’r) to

I 23 find the answer. 123 +1 = 124




You tryl 5,000-1634

Discuss strategies. Answer's on next sllde

5,000 4,999 We took one

1634 O 1,634 ( ooy Dot

give it back!
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" 5000-1634

We took one )
away. Don't

5,000 OR 4,999 forget to
—1,634 '1,634 givei’rbaclf

3366 3,365+
,, 3,366
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You still might
have to borrow,
but not as much.

We took one

away. Don't
forget to give i
back!




5 001 - 1,856

(answer on next Tr'y

slide) SUb'fr'ClCTlng 2
to make it

4 999 ‘




Subtracting 2 made it a LOT easier!
4 999 - 1856 = 3,143 because we

took two away to make subtraction
easier, we must give the two back

(add 2) in our answer.
3,143 + 2 = 3,145




406 - 164

(answer on next slide)







: 62 500 people a’rTended The
~ i Chicago Bears football game and
41,876 people attended the Sox

: baseball game. How many more

. :people attended the football game

: than the baseball game?




Notice, you
may still need to
game and 41,876 people attended the Sox baseball borrow when you
game. How many more people attended the football adjust a humber.

game than the baseball game?
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Add one back
+1 = 20,624




- :12,399 points on a pinball
game. His sister Janice

»

scored 8,980 points. How (&=
: many more points did he
: score than his sister?
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Josh scored 3,419 1
1\8 ,13 99 niiresggrnets than i
8,980 =

his sister.




